Form I Integrated Science


Time: 1 hr 45 mins

This paper has two sections. Answer all questions. Do Section A (multiple choice) on the answer sheet provided. Write the answers for Section B on binder sheets.

Section A: Multiple Choice

1. Which one of the following is not a Science process skill?
A. observing

B. hypothesizing
C. manipulating
D. burning
2. Antibiotics came about as a result of

A. scientific discoveries.


B. technological applications of science.

C. limitations of science.


D. misuse of science.

3. In science, a theory

A. is a law of science that sometimes appears to be true.

B. becomes a hypothesis when it is proven experimentally to be correct.

C. is a careful observation or an accurate measurement.

D. is a proven hypothesis that is supported by experimental results.

4. If a chemical gets into your mouth, you should

A. immediately spit it out into a basin and then rinse your mouth with plenty of water.

B. swallow the chemical.

C. rinse your mouth with milk.

D. rinse your mouth with lemonade.

5. One should not carry out any test or experiment without the teacher's permission because the test or experiment may 

A. be costly.
B. bring disastrous results.
C. not be in the syllabus.  D. not work.

6. Which one of the following apparatus can only be used to measure a specific volume of liquid accurately?

A. Measuring cylinder
B. Beaker

C. Burette

D. Pipette

7. What is the total surface area of a cube of length 5 cm?

A. 30 cm2

B. 36 cm2

C. 150 cm2


D. 216 cm2
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The figure above shows a zero error found on a pair of vernier calipers. The zero error is

A. 0.04 cm.

B. -0.04 cm.

C. 0.06 cm.

D. -0.06 cm
9. Which of the following quantities cannot be measured directly by using a pair of vernier calipers?

A. Internal diameter of a measuring cylinder

B. Diameter of pendulum bob

C. Depth of a test tube

D. Area of a boiling tube

10. Which of the following liquids has to be sucked into a pipette by means of a rubber hand pump?

A. Tap water

B. Pure water

C. Corrosive liquids
D. Sugar solution

11. Which of the following statements is true about mass?

A.  Mass and weight can be used interchangeably.

B.  The SI unit for mass is gram.

C.  Mass is a measure of the area in an object.

D.  The original prototype for mass is a one kilogram cylinder.
12. When water freezes into ice, its volume increases. This means that

A. water is denser than ice.

B. ice is denser than water.

C. water and ice are equally dense.

D. the mass of ice is larger than that of water.

[image: image2.emf]
If all five substances in the table above are placed in a measuring cylinder, what will the order of the substances be like from the bottom of the cylinder to its top?

A.  Methylated spirit, water, sand, zinc, mercury

B.  Water, methylated spirit, sand, zinc, mercury

C.  Mercury, zinc, sand, water, methylated spirit

D.  Zinc, sand, mercury, water, methylated spirit

13. Which of the following liquids is commonly used in clinical thermometers?

A. mercury
B. alcohol
C. water
D. paraffin oil

14. The average body temperature of a healthy human being is about

A. 35 ºC.

B. 36 ºC.

C. 37 ºC.

D. 38 ºC.

15. The SI units used for describing matter include

A. kilogram and metre.

B. kilogram and square metre.

C. kilogram and cubic metre.

D. gram and cubic metre.

16. Which of the following is not a physical property of matter?

A. acidity
B. elasticity
C. heat conductivity

D. strength
17. Rubber is elastic because it

A. is a kind of matter.

B. has a low density.

C. has the ability to return to its original size and shape after being bent, stretched or compressed.

D. is non-metallic.

18. Diamond is a hard substance because it

A. is made up of pure carbon.

B. can scratch many other substances.

C. is able to support a heavy load without breaking.

D. has a high melting point.

19. Substance X can only exist as a solid at room temperature because

A. its melting point is lower than the room temperature.

B. its melting point is equal to the room temperature.

C. its melting point is higher than the room temperature.

D. it does not have a melting point.

20. Weather balloons are usually filled with helium because helium

A. is a gas.

B. has a low density.

C. has a low melting point.

D. is colourless

21. Tungsten is used for making filaments in light bulbs because it

A. is elastic.

B. has a high electrical conductivity.

C. has a high melting point.

D. is a conductor of heat.

22. Lenses are made from glass because it

A. is strong.

B. has a low density.

C. is non-elastic.

D. is transparent.

23. Steel, instead of iron, is used to make beams because

A. it is stronger. 

B. it has a higher melting point.

C. it has a lower density.
D. it is insoluble in water.

24. At approximately 0 ºC, water can exist as

I a solid.

II a liquid.

III a gas.

A.  I only

B. III only

C.  I and II

D.  I, II and III

25. At room temperature, dry ice

A. boils.

B. condenses.

C. melts.

D. sublimes.

26. Dew is formed from the

A. evaporation of water.

B. condensation of water vapour.

C. melting of ice.

D. boiling of water.
27. Which of the following processes involves the giving out of heat?

A. melting
B. evaporation
C. freezing
D. boiling

28. Water vapour has definite

A. mass only.

B. mass and volume only.

C. shape and volume only.

D. mass, shape and volume.

29. Glass is classified as a material because it

A. is a non-metal.
B. occurs naturally.
C. is transparent.
D. can be made 










into different objects.

30. Plastic
I conducts electricity.

II has a low density.

III is insoluble in water.

A. I and II

B. I and III

C. II and III

D. I, II and III
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The above diagram involves a process called

A. combustion.

B. sublimation.

C. expansion.

D. decomposition.

31. When sugar is heated, it

A. combines with oxygen.

B. decomposes into simpler substances.

C. sublimes.

D. melts.

32. Iodine (solid)               Iodine vapour

The above equation involves the

A. combination of two elements.

B. decomposition of a compound into its elements.

C. expansion of iodine on heating.

D. change of state of iodine upon heating.

33. When photographic films are exposed to light, their silver bromide coating

A. remains unchanged.

B. combines with oxygen to form a new compound.

C. decomposes into silver and bromine.

D. changes state.
34. Which of the following is an example of combustion?
A. Iron burns in air to form iron oxide.
B. An iron nail that is exposed to air rusts.
C. A lighted stick glows when it is bent. 
D. Bubbles are formed when a salt is added to water.
35. Passing an electric current through a substance can result in permanent changes like in the case of

A. lighting up an electric bulb.

B. warming up an electric iron.

C. decomposition of water.

D. running an electric motor.

36. Photosynthesis

A. is not a chemical reaction because no new substance is produced.

B. is not a chemical reaction because new substances are produced.

C. is a chemical reaction because no new substance is produced.

D. is a chemical reaction because new substances are produced.

37. An example of a harmful chemical reaction is the

A. rusting of iron.

B. making of soap.

C. making of bread.

D. digestion of food.

38. The number of elements known is

A. more than ten

B. more than twenty-five

C. more than fifty

D. more than a hundred
39. The first element classified in the Periodic Table is

A. nitrogen.

B. oxygen.

C. helium.

D. hydrogen.

40. In the Periodic Table, each vertical column is known as a

A. set.

B. row.

C. group.

D. period.

41. Each element in the Periodic Table is represented by

I one letter.

II two letters.

III three letters.

A. I only

B. II only

C. I or II only

D. I or II or III

42. Copper wires are ductile because they

A. can be beaten into different shapes.

B. can be drawn into long wires.

C. are shiny in appearance.

D. are good electrical conductors.

43. Aluminum is used for making aircraft body because it

A. is sonorous.

B. is a good heat conductor.

C. is a good electrical conductor.

D. has a low density.

44. Reflective surfaces in mirrors are usually coated with

A. silver.

B. gold.

C. lead.

D. zinc.

45. Silver ornaments are famous for their

A. elasticity.

B. shiny appearance.

C. hardness.

D. high melting point.
46. Water is not found in the Periodic Table because it

A. contains hydrogen atoms.

B. is a good solvent.

C. can exist as a solid, a liquid or a gas.

D. is not an element.

47. When ice melts in water,

A. a new compound is formed.

B. two different elements are formed.

C. a new mixture is formed.


D. no new substance is formed.

48. Which of the following mixtures produces a new substance?

A. Mixing sand and water

B. Mixing sand and cement

C. Mixing sand, cement and pebbles
D. Mixing sand, cement and water

49. Water is a compound because it

A. is a liquid.

B. can combine with other elements.

C. consists of two elements chemically combined together.

D. contains oxygen.

50. The properties of magnesium oxide are

A. similar to the properties of magnesium only.

B. similar to the properties of oxygen only.

C. similar to the properties of magnesium and oxygen.

D. different from the properties of magnesium and oxygen

51. A mixture can be made up of

I gases.

II liquids.

III solids.

A. I only

B. II only

C. III only

D. I, II and III

52. An alloy is a mixture of

A. metals.

B. non-metals.

C. liquids.

D. compounds.
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The method of separation that uses the apparatus shown in the diagram above is called

A. distillation.

B. evaporation.

C. filtration.

D. crystallization.

53. The substance labeled Y is the

A filtrate.

B residue.

C solute.

D solvent.

54. The gas in air that has the lowest boiling point is

A. hydrogen.

B. helium.

C. nitrogen.

D. oxygen.

55. Chlorofluorocarbons are commonly known as

A. CCCs.

B. CFCs.

C. CRCs.

D. CUCs.

56. Exhaust fumes released by motor vehicles running on unleaded petrol do not contain

A. carbon monoxide.



B. sulphur dioxide.

C. oxides of nitrogen.



D. lead compounds
57. Which part of our Earth is presently exposed to the largest amount of ultraviolet rays from the Sun?

A. The North Pole
B. The South Pole
C. The Equator
D. The mountains

Section B
Answer all questions in this section. 
a) i. What is classification?
(1 mrk)
ii. Why is classification important?




(1 mrk)
b)  Name the three physical states of matter?




(3 mrks)
c) Name the process involved in each of these changes of state:

i. Liquid to solid

ii. Solid to gas

iii. Solid to liquid

iv. Liquid to gas





(4 mrks)

d) If a jar with a metal lid is hard to open you can pour hot water over it to loosen the lid. Explain why it is easier to open the jar when it has been heated with the hot water.
(1 mrk)
a) What is the density equation?





(1 mrk)
b) State the SI unit of density





(1 mrk)
c) A copper lid has a mass of 45g and a volume of 5 cm3. 

i. Find the density of the lid.




(2 mrks)

d) Name the physical property described in each case:

i) The ability to withstand scratches and wear

ii) The measure of how readily electricity flows through a  substance








(4 mrks)
e) State two ways in which a clinical thermometer differs from a laboratory thermometer?
(2 mrks)

a) Define each of the following terms:
i. element
ii. mixture
iii. compound

(3 mrks)
b)  Is air a mixture or a compound? Give a reason for your answer.

(2 mrks)
c) Name two useful chemical reactions.




(2 mrks)
d) Make a table to show three major differences between mixtures and compounds.

(3 mrks)
a) Name the method of separation that may be carried out using the apparatus shown in the diagram below.







(1 mrk)
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b) Identify parts 1, 2 and 3 of the apparatus above.



(3 mrks)

c) What type of mixture is this method used to separate?


(1 mrk)

d) What is the result of the completed process called?


(1 mrk)
e) Match each of these descriptions to the correct hazardous substance symbol on the labels of containers A, B, C and D below: Corrosive, Flammable, Irritating/Stimulative, Radioactive
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(4 mrks)
~The End~
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